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General Instructions:

1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and total number of questions contained in the
Question Paper are the same as those printed on the top of the first page. Also check to see that the questions are
in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the specified
places will lead to disqualification of the candidate.

4. Write your Question Paper Code No. 68 / ESS /1-C on the Answer-Book.

5. (@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in any one

of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the
Answer-Book.

(b)  If youchoose to write the answer in the language other than Hindi and English, the responsibility for any
errors/ mistakes in understanding the question will be yours only.

6. In case of any doubt or confusion in the question paper, the English Version will prevail.
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HOME SCIENCE (Theory)

Te-famm (fagr=)
(321)

Time : 3 Hours | [ Maximum Marks : 80

|qU : 3 94U ] [ gutiek : 80

Note :

(i)  This question paper consists of 43 questions in all.

(i) All questions are compulsory.

(iii) Marks are given against each question.

(iv) Attempt all questions either from Optional Module A Housekeeping or Optional Module B
(

Creative Hand Embroidery in all Sections.
v)  Section - A consists of
(@) Q.No.1to 16 - Multiple Choice Type Questions (MCQs) carrying 1 mark each. Select and
write the most appropriate option out of the four options given in each of these questions.
(b) Q.No. 17 to 28 - Objective Type Questions. Attempt these questions as per the instructions
given for each question.
(vi) Section - B consists of

(@) Q.No. 29 to 37 - Very Short Answer Type Questions carrying 2 marks each to be answered
in the range of 30 to 50 words.

b) Q.No. 38 to 41 - Short Answer Type Questions carrying 3 marks each to be answered in the
range of 50 to 80 words.

(

() Q.No. 42 to 43 - Long Answer Type Questions carrying 5 marks each to be answered in the
range of 80 to 120 words.

(

d) Section B offers internal choices for some questions. Attempt only one of the given choices
in such questions.

() T9IA-TFH FA 43T T

(i) -\t T IfamE ¥ |

(i) I I o WA TR 3k fw M F

(iv) |t Wi § U MU Jenfedsh ATSIeT A T8 &Nl (Housekeeping) 312a1 Jehieddh ATSIel B ToHTeTHh
WA i Hels (Creative Hand Embroidery) %Hﬂﬁuﬁ%wma‘rﬁmﬁ@y A Y
Jehfedsh AisTe B § SifSw |

(v) @ug-AH
(a) T HEN1H16- T 1 31 el Igfoehedrd TR o T34 § | e 99 § U 70 9R foshedl o

Y Faifier 39ge fashey 1 9w ik fafaw |

(b) U T 17 F 28 - TS YR o YT & | T Tl Al IW, Tdsh U | U U FH91 & 18R i |

(vij @Ug-BH

(a) WY W@ 29 ¥ 37 - TS 2 3k 9ol A TISTWIT YHR & YA T YAH W HI Ieg HET
30-50 ¥ © |

(b) U G 38 T 41 - TF 3 3k ] THSTNT YhR & U § | T T hI IW w6 el
50-80 ¥ T |

(c) T U&A 42 ¥ 43 - YIH 5 i aTc] S8 ST YRR o U & | Tk U hi ST I ¥eq AT
80-120 18 T |

(d) @WUS B, S U | TR =d4 i A= & T T 3H UER & T § 9 R hadt Th u
HIW AT

o
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Note/ﬁa'ST :

(1) Answers of all questions are to be given in the Answer-Book given to you.
[t gl & IR AT TG IR-IRAHR H 2 e |

(2) 15 minutes time has been allotted to read this Question Paper. The Question Paper will be
distributed at 2 : 15 p.m. From 2 : 15 p.m. to 2 : 30 p.m., the students will read the Question
Paper only and will not write any answer on the Answer-Book during this period.

Y Y-UF ! Ted & fan 15 e &1 99 fon won 1 9v9-u3 1 faaor e # 21 15 o9t foha
M@ 2:15 991 ¥ 2: 30 99 Tk B holdd G-I h1 T IR 30 37afyy & A o ISWR-YRdan |
HIE IW T feraT |

SECTION - A/ ®@US - A

1.  Braille is an aid used to help :
(A) Blind children
(B) Child with hearing impairment
(C) Mentally retarded child
(D) Child with orthopaedic disability

o fohgen! Aeg A o T wamT fean <man € 2
(A) TfeEH o=

(B) o=

(C) WY formraiTal st o=

(D) ®fgdl § Heiferd farepetiv siret s
2.  How many teeth do children have during middle childhood ?

(A) 28 (B) 32 ©) 20 (D) 24

&g ITeITeE & THY <4l o fohad i 8Id @ 2

(A) 28 (B) 32 ©) 20 (D) 24
3. 1. Supplementary meals

2. Nutrition and Health Education

3.  Health check-ups

4. Treatment of minor illnesses

These 4 services are provided by which National Nutrition Programme ?

Choose the correct option :

(A) Mid day Meal Programme

(B) ICDS scheme

(C) National Nutritional Anaemia Control Programme

(D) National Control Programme for Prevention of Nutritional Blindness due to Vitamin A

deficiency
1. S 3R
2. Ol ey e
3. e &t fafad Sta
4. HYRO SHRE] 61 g
78 =R FaTd frg T Qoo sk & gRI YeM i Sl 8 2
el fashed I |
(A) SIS AT HISH HRHH
B) oTR.9.ELTA.

(
(C) U g Haiel srfifian o wriswa
(D) faerfda ‘T’ ot el & FROT A9 Gl U i TR o fau T 0 wrihn

=
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4. Child A: Is 8 years old. He has lost his appetite. His nails have become brittle and 1
spoon-shaped.

Child B: Is 3 years old. He also lost his appetite and has skin rash.

Identify the deficiency disease A and B are suffering from :

Choose the correct option :

(A) Child A and B are suffering from Kwashiorkor.

(B) Child A and B are suffering from Anaemia.

(C) Child A is suffering from Anaemia and Child B is suffering from Kwashiorkor.
(D) Child A is suffering from Kwashiorkor and Child B is suffering from Anaemia.

TRl A: SIS T 1T U Y@ Tel Tl | 39 ARG e U s = o ATHR o 2 T E |
FeET B: o od g1 ITH! o @ e ! | SHeR! e GRed ¥ E

A SR B for¥ dIwek Tl i St § B ATl U | difed €2

Tl fashed I |

(A) w1 A 3R o=a1 B FefyrEEs ¥ difed €1

(B) w=d1 A iR J=a1 B Toeud ¥ difed ¥ |

(C) o=a A ToIeTdl 9 Heid ¥ 3iR B Fanferies ¥ difed 71

(

)
D) F=a1 A FaIEER SR s=a B Teedar ¥ difed T

5.  Reducing bleaches are suitable for woollen and silken clothes because they : 1
(A) are cheaper. (B) are easily available.
(C) are less strong in action. (D) do not have a permanent effect.
ﬁ@ﬂfﬂ"’[ﬁﬁﬁ, ﬁawm%mwi FifeR -
(A) ITH T (B) o T ¥ U T
(C) o T YU B ¥ | (D) o TR gg 7 Bred ¥ |

6.  Which fabric is made by a technique in which fibres are held together by mechanical force, 1
gum and heat ?

(A) Khnitting (B) Non-Woven (C) Braid (D) Lace
A ¥ T I TR | g3l AH e, Tig 3R a9 & e <
(A) fafen (B) HAM-dlreA () e (D) <9

7.  Activity level in middle childhood is high because : 1
(A) they eat a lot in this age. (B) their bones are now very strong.
(C) they feel they are now grown up. (D) their school encourages such activities.

e STeATER § e ol 21 § ST

(A) 9% TE Y H 9gd @ ¥ | (B) Skt 31 BfgAl Sigd HeTed &1 W & |

(C) ITHRI AT fha@ AT TSR ML (D)  STehT Tl THI TIfAfaferl hl sieren <l § |
o
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8. At 11 to 13 years of age, what is the approximate gain in height in girls ? 1

(A) 12 cms (B) 10 cms (€) 15 cms (D) 20 cms
11-13 99 &t 3T H TfeRal 1 g T fohaT o § 2
(A) 12 9. (B) 10 H.HI. (C) 15 G (D) 20 &.H.
9.  Mohan has skin rash. His hair has become light in colour and easy to pull. His face, arms 1

and legs look swollen. What deficiency disease do these signs indicate ?
Choose the correct option :

(A) Nightblindness (B) Anaemia (C) Kwashiorkor (D) Goitre

TTEA o o= YISICR 81 78 § | SHh aTel X &1 U § 3R e ol €1 39! =g, a9 T IR ol g
g1 ¥ B § 9w q HI FH H F A I B GhA 7 2

Tl fashed I |
(A) e (B)  TeTeqdt (C) ARt (D) TNTUE (M)

10. The dietician has suggested Beena to have a diet of dal and vegetables. She has been askedto 1
take six small meals per day and not to eat sugary products. Beena could be suffering from
which condition ?

Choose the correct option :
(A) Hypertension (B) Jaundice (C) Diabetes (D) Fever

TR fardroe =1 for 61 3R ® T1e iR Wfesai @ o1 gema fean ¥ 1 39 oSt A # ©: 91 3R oA
% R it I wH @ T R ® 1 T for A | e & Hendt © 2

e fased 94 |
(A) =3 =M (B) ifern (©) wyHE (D) =X
11. The study area should be : 1
(A) close to the kitchen (B) in the recreation area
(C) in the balcony (D) in bedroom
ST &5 Fel G AR ?
(A) TEE % U (B) TARSH &+ H
(C) wrerhHt | (D) IEHRY H
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12.  Which of these statements highlights the advantages of using micro hydel energy ?
(i) easy to maintain (i) provides hot water
(iii) generates electricity (iv) conserves forests
(v) do not require heavy investment
Choose the correct options :
A) @), 6@ 6 B OO (© O (D) @) W),
frfafed & & &9 | w9 gad a1 & el Bl ISR FW § 2

(i) WA TEEE (i) T 9 <@

(iii) Torera ST e ® (iv) STl ol Hfed TEd §
(v) ifersk ForeT Rt sTrerverehar T Ert

e faeheT o

(A) (), (i), (i) (B)  (©), (v), () (©) (), (i), (v) (D) (i), (), (v)

13. Which investment schemes do these statements represent ?
(a) Investor shares both profit and loss of the company.
(b) Provides security against fire and theft.
(c) Company gives a fixed rate of interest at regular intervals.

Choose the correct options :

(A) (a) Shares (b) General Insurance (c) Debentures
(B) (a) Debentures (b) Shares (c) General Insurance
(C) (a) General Insurance (b) Debentures (c) Shares
(D) (a) General Insurance (b) Shares (c) Debentures
71 e T AT Arerstl =i <wid € 2

(a) T7oreTeh POt & A1 TR =1 T WK & S |
(b) 3T SR = A &M Y HLal §
(c) et fafea stafy & v § Fafaa = <dt 7

et forshed 9 -

(A) () IR (b) TR &A1 () Fea=r
(B) () FEBFR (b) IR (c) W= At
Q) (a) WM &M (b) fea=R (c) IR
(D)  (a) W < (b) AR () Fes=r
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OPTIONAL MODULE A / Jehfeueh AsIet A

(Housekeeping / g SAEe)
14. Read the following activities :
(i)  Rub the stains with a piece of soft damp cloth.
(i) Use grease absorber to remove grease stain.
What is cleaned by this method ?

Choose the correct option ?

(A) Ceramic tiles (B) Painted Surface
(C) Wall Paper (D) Marble surface
frafafea nfafafest oe

(i) A Yesll ohl Helrd Tl hae 9 TS |
(i) foreRTE sTerRieR! § faeTE 1 I B |

39 Tfafaferdt ¥ s A foran < § 2

e fashed 9 -

(A) = fagt =+t e’a (B) Ue =i gE Wag
(C) dfTIR (D) HTHOR §E

15. Read the following steps of maintenance :
(i)  Dust and rub with a flannel cloth.
(i) Remove water marks with methylated spirit.
Which product is maintained with these steps ?
Choose the correct option :
(A) Laminated wood (B) Painted wood
(C) Polished wood (D) Plain wood

e TER@E & =930 U% ¢
() T & HIS F ;S AR WS |
(i) I % el I fhameics fafe 9 96 i)

T =R O foRd g o W@ BT § ?

Fﬁﬁﬁqﬂﬁ

(&) dfries e (B) U Wl T TR

(C) TifcTeT ol g8 olohel (D) et clehet
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16. Read the following ingredients : 1
(i) Linseed oil
(i) Turpentine
(iii) Vinegar
(iv) Methylated spirit
Which is prepared using these ingredients ?
Choose the correct option :

(A) Metal Polish ~ (B) Copper Cleaner (C) Furniture Polish (D) Furniture Cream
Frefafed amiET o

() ST 1 a9

(i) ARYH

(i) TR

(iv) Themgeres fefe

T AT ST G R S H R ST € 2

T foshed T -

(A) urg @i difqwr  (B) diE U (C) WA Uifa (D) WATeR A

OPTIONAL MODULE B / Jehfcueh WiSIe B
(Creative Hand Embroidery / TaTcHeR BTl <ht HeTT)

14. Which of the following colours create the effect of luxury and richness ? 1
(A) dark gold (B) pink (C) yellow (D) blue
frefafed § 9 &9 &1 31 faaregul aen qeder & 9976 Se= il © 7
(A) TG (B) TSt (©) ren (D) Hren
15. When choosing a design for embroidery, one should not consider : 1
(A) sex of the wearer (B) age of the wearer
(C) texture of the fabric (D) financial status of the wearer
FEE o T fese &1 gAE wtd §94 fhd | &= =& <1 =nfee ?
(A) UETH o T fedT (B) W& o1 i Y
(C) IS H THIE/ T (D) 9B aTe st fofta feafa
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16.

17.

18.

Warm colours :
(A) create a visual impact of reduced size and length.
(B) give a feeling of rest and repose.

(C) have the element of vegetation in them.

(

D) are peaceful colours.

(A) T DI MHR R A HT Y Bl ¢ |
(B) TR 3R wIifd 1 ST Y ¥ |

(C) 3" g el acd B & |

(D) ifaemEes T8 § |

Given below is a list of reagents. Specify their role in stain removal.
Reagent Role in stain removal
A) Kerosene

B

~

Glycerine

(
(
(C) Methylated Spirit
(

D) Borax

frefafed T dusie it = €1 -4 B ger § 3! Yfieh aand |
feste e FIM il Yfereht

(A) fagt = 7

(B) frowd

(C) Tuerzaice fafe

(D)

Convince your friends to follow the rules and regulations of their office by telling them its 2

two benefits.

T Y AR 3T Tl Rl ST9 AR & 199 o A Sl 9o F & fag 7am |

68/ESS/1-321-C | 9
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19.

20.

21.

Give one word for the following statements :

(A) A cleanser produced synthetically from chemicals.

(B) Colourless dyes which are fluorescent compounds used to remove yellowness of fabric.

(C) Separating clothes before washing on the basis of colour.

(D) Cleaning clothes with solvents instead of water.

frefafed wem & faw w v forg |
A) TEE ARl S WA P S sk SR S ¥

C) Yol & Tgol I& ol TN ok STHR T 3T HEAT |
D) UM o T R fodes 9§ Hael i TEE H |

(
(B) VT TE T TARGT RS § Sl ol 9 Jialrad g i o e Jan fopan S g |
(
(

Indicate whether the following statements are True or False :

(A) A soap is a mixture of natural fat and wax.

(B) Fabrics washed with syndets become dull after a few washes.
(C) Hydrogen peroxide can be used for silk.

(D) Stains can be bleached by grass and sun.

i X fop Frefafea wem w@ § stean o -

(A) TS Wk o4 iR Hm %1 Tk fago g1

(B) Taec I T YAl & 9% HUS Fich IS I ¢ |

(C) TTESIoH RIS shi T ol o ferw Wi e wehdt ¥ |
(D) =9 3R g9 | ¥esii Sl sl fohan S Heha € |

Give one word for the following set of words :

(A) Open mesh fabrics with geometrical shape.

(B) Finished edge on each side along the length of fabric.
(C) A yarn that runs along the length of fabric.

(D) Total number of yarns per square inch.
frfefea vl o ferg e weg for

(A) SHITHAT SRR a1 foghR a6 |

(B) HUS h! T % S SR TAR i T feRafa |
(C) TH Y S HIS o FHMR I H 21 |

(D) oA Tah oFf 59 | Idl ol Fe&A |

68/ESS/1-321-C | 10
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22. Separate the activities based on fine muscular coordination from the gross muscular 2
co-ordination.

(A) Jumping (B) Writing a letter
(C) Colouring a drawing (D) Climbing a tree
HeH 3T T HIHUTE TH= o SR TR g Tierfeferi s e |
(A) & (B) fagt femam
(GIREEERuURIC! (D) TS W e
23. Indicate whether the following statements are true or false. Give justification for your answer. 2

(A) Three year old children should participate in maximum number of different activities.

(B) Friends are not important in middle childhood.
EfTa i for Fafafea e 98t € 219an Ted | 3799 3R kT ShRUT IdisU |

(A) T aeta s=al wl - geR &6t g afafe=l § 9m o =t
(B) A ATcATeR H S BT STeeah el eIl |

24. Tell four advantages to convince Rohit to invest his money in units (Unit Trust of India). 2

IR @Y S Afed 1 gffe (IRdTT gfFe ) § faw & & forg 7amd |

25. State True or False : 2

A) Four dishes can be cooked in one time in a solar cooker.

B

~—"

(

( Street lights can be charged by solar energy.
(C) Waste of biogas decreases the yield of crops.
(

D) Wind energy can generate electricity in hilly areas.

HEl 1 TTeAd FaTd

(A) TIeR Fo | Th G99 § IR A5 YT ST Fhd & |

(B) EIe el shl OR Tl gRI1 =TSl fean < Wehell ¥ 1

(C) TR 1 TUf¥Tee/TeR, FEell i U ol HH L dl T |

(D) T SRl | To Seti kT ST ferstelt Scaree o fore femam < Tear 1

EAm
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26.

27.

28.

68/ESS/1-321-C | 12 e

Write True or False :

(A) Y2 cup rice gives same calorie as one chapati.

(B) Mashed banana can be given to a 3 months old baby.
(C) Dietary intake is not influenced by age and gender.

(D) Good meal planning means making nutritious food.
& 1 TTeld fofET

(A) T T IR 1. %Y =FFa | Th THE HART 21 2 |

(B) i &M % forg] Al wHen gon hen fean S ek €

(C) Tl =afaa o1 oTER, ST o1 Ua o & gnferd =& 2|
(D) 3= TR ArSHT HT 1ef 3R i iftedh ST T |

A family has been served chapati, potato curry and curd. Suggest two modification in this
meal to meet the nutritional needs of Protein and Iron of a pregnant women.

T ARER I U, e Fosl SR T2 W TE 81 39 SRR H T el St o U iR @ &
Hiftesh sTarwaehar i gfd & faw < ufterds gl

OPTIONAL MODULE A / Jehfcueh WISTd A

(Housekeeping / TIg SAc¥eN)
Match Column A with Column B.
Column A Column B
a) Acid i)  Baking soda

b) Alkali ii)  Vinegar

c¢) Solvent iii) Sodium bisulphite

(
(
(
(d) Bleach

(
(
(
(iv) Methylated spirit
HITH 31 I ShICTH o o H1Y Hel i |

HICTH 3 e o
(a) 3T=A () Sfgre
(b) &R (i) Toem
(c) feocres (it) HfeTH dEFECHES
CREESED (iv) THemEeics fefe

[ Contd...



28.

29.

30.

31.

32.

OPTIONAL MODULE B / 9&h{caeh HISTd B
(Creative Hand Embroidery / TaTcHeR &l <ht HeTT)

State whether the following statements are True or False :

(A) Repeating motif at intervals over a surface is called pattern.

(B) A graph paper is required to enlarge a design.

(C) When a design loses its natural form it is called geometric design.
(D) Lightness or darkness of the colour is called intensity.

i X fof Frefafea wem @&t § steran e -

A) e fREt Tag R Hifcw i TR T S S €, S6 U Fed €
e =1 JlgM & foTT 7% IIX T Shexd It § |

C) < fesme Wipfas SR | TR &1 |, a1 3§ s fesmed #ed €
D) {1 I AT TR i 30 Fad ¢ |

B

~

(
(
(
(

SECTION - B/ @Us - B

Mention two effects of population growth on environmental degradation.

SEE gig & TR0 =R W S J9El Hi Seerd |

Describe the method of making sweet lemon pickle at home.

TR O ie] 1 HIST =R S ot Ufshar skl o i |

OR/ 3Terar

Describe the method of making potato chips at home. What will you do to prevert the chips

from becoming black ?

X T A T o a6t fafy o1 9o &1 oo &1 el B | s & T o e w82

Meenu is tired of having dal every day. Suggest any four dishes mother can make so that she

gets the same nutritive value.

i ST S et @R AT ST TS & | SHR! AT Rl HHM G5k T a1t shig 9IRS G |

Write any four problems faced by consumers regarding prices.

HIAAl % o U YIS i HIE IR GHEU fAfgu |

68/ESS/1-321-C | 13
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33. State any two advantages of preserving food. 2
G- veref % qRLE 3 o < A Sy |
OR/3AAaT

What do you understand by blanching ? Why is it done ?
AITeT § 9 o THed € 2 59 Al fehel S € 2

34. Satnam is a clerk at the railway ticket counter. He mostly arrives late. Which two 2
inconveniences are faced by the public by his habit ?

AT T YT foohe R W 9t § | 98 SRR <X H U § | ST i ST 39 371G o HROl
e & ergfaensti 1 WA 92 § 2

OR/ 3terar

Write any four ethical behaviour of a student.

Teh BT & s IR fad Zaer fowd |

35. Write two tips for planning meals for a person suffering from hypertension. 2

=9 W § difed At o fou SRR STRSE & o < gd ford |

OPTIONAL MODULE A / Jehfcueh AsIet A

(Housekeeping / & SATE)
36. What could be two reasons for your fan to have stopped working ? 2

39 TG & - Fe o ol RO 1 B Hehd © 2

37. Give two suggestions for arranging flowers in a Vase. 2

TR B el i & < gd < |

OPTIONAL MODULE B / 9{caeh HISTd B
(Creative Hand Embroidery / TaTcHeR &l <ht HeTT)

36. How will you finish a table cover after doing its embroidery ? 2

TS| o ok T Hels HTT oh TYAN 7T SHeh! IREsST Y Hl ?

37. You have to embroider a school bag. Which four qualities will you need since it will carry 2
weight ?

3T Tk Thal o fll s (SFT) & T *helk w1 390 I9H 38 & faw s | 9R 0
gffy=a & 2l ?

o
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38. What are three ways by which HIV gets transmitted ? Write three symptoms seen in AIDS 3
patients.

T, 3T 1 o i wreei § gl &rn €7 ugw § difed A § SiF & 9 @ fomrs <9 €2
OR/ 3terar

What three precautions should be adopted for safe motherhood ?
Tferd Tge o foTw A O A9 Fraentar ST =nfey ?

39. Suggest two suitable fabrics for Winters. Give one reason each for your suggestions. 3

it i ek o fAu < Suged 9 1 ged € | 379 G 1 Ueh-Teh RO i |

40. Give two Suggestions each for buying the following : 3
(A) frock for a baby
(B) pyjama for an old man

(C) shirt for an office
Frefafed Tl a9g o9 fa 1 o &1 & w6 ?
(A) Ty =T PR
(B) 9T &Y 1 Gl
(C) SAfRE & foag s
OR/ 3terar

How does the length of the fibre influence your selection of clothing ?

T ! TS fhE YR AR FHUSH o o9 1 FIfad it © 2

OPTIONAL MODULE A / Jehfcdeh AISTd A

(Housekeeping / TT& SAd¥)
41. What three points should be kept in mind when making a rangoli ? 3
et S T foma 9 91l bl &= | W@ =t 2

OPTIONAL MODULE B / 9h{cueh HISTd B
(Creative Hand Embroidery / TaTcHeh &l <ht HeTT)

41. How are tertiary colours different from mono chromatic colours. Give an example each. 3

qaiteh T1 OFshafes & 8 =1 3 €2 -1 3R i |

o
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42. List any five problems of consumers.
Syt i foheel we Tmensii ot g s |
OR/319raT

In what five ways does consumer education guide us ?

SqTe foren =6 fore o= ol © Arieeie il § ?

43. Elaborate any five problems of adolescents.
TRl ot 18 i wreneti o1 forar # aoi &Y |
OR/ 3t

Briefly explain how both, early and late maturation in girls, effects their personality.

3iTer SR R W g8 IRTaaar 1 Rl o sAfaded W o1 9e Tedl § 2 W | Sooid shifed |
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